® P
2 5 i i y @
2 2 a a s &
55
E 834 (118.5(DR)./.100.km/h.) 56 2 Al A BB B e 03 %9
CroIF (T OO0 (D)7 TUUKM/NT) i 58
E 834 (118.5 (DR) / 100 km/h ) g 4
E 834 (118.5 (DR) / 100 km/h )
54
Ng 53624 ( 52.8 (DR) /50 km/h)
b;’- ......................................................................................... 2
9672 (175 (190 K <
19 17 7 22 1 E_415(]18.5(.DR)J1.0DKm/h)- .................................. [
s (1185 (OR) 100 k) £ 415 (1185 (OR)/ 100 km/h) s E 415 (118.5 (DR) / 100 km/h.). ....................................................................... :
30 .......................................................................... 24 T 9623 ( 173 (DR) / 90 km/h )
...................................................................... 5 7 PP,
................................................... T-9623-(-173{BR)/ ?
3 T 9623 (173 (DR) /90 km/h)
T 9623 (173 (DR) /90 km/h )
—
37
39
e N 40 Ng 53624 ( 52.8 (DR) / 50 km/h )
53624 ( 52.8 (DR) / 50 km
Ng 53624 ( 52.8 (DR) / 50 km/h ) Ng (528 (OR)
< VT P L e L q
17l g
e g 15 T 9411 (172 (DR)/80 km/h)
................................................................................................................... 19 18 T9411(172 (DR)/80 km/h)
22 T 9411 (172 (DR) /80 km/h )
T 9411 (172 (DR) /80 km/h )
39 E418 (1185 (DR) /100 km/h) |40 “
E 418 (118.5 (DR) / 100 km/h ) 41 42
E 418 (118.5 (DR) / 100 km/h )
47 50




10

12

m m N
g 3 = = E :
= 2 > )
L P T ¢
1T ———— - T9411 (172 (DR) / 80 kmvh )
7l R PPIPPRAPPREETRETETCLL Lk
................................................................... 19 18 T9411 (172 (DR)/80km/h)
...................... 22 T9411 ( 172 (DR) / 80 km/h)
T 9411 (172 (DR)/ 80 km/h )
~ 43
E 418 (118.5 (DR) / 100 km/h ) 40 E 418 (118.5 (DR) / 100 km/h ) 41 42
E 418 (118.5 (DR)/ 100 km/h )
47 >
E 418 (118.5 (DR) / 100 km/h )
6
10 3
P 3621 (118.5 (DR) / 80 km/h)
14 12 “? 118.5 (DR) / 80 km/h) i
P 3621 (118.
15 P 3621 (118.5 (DR) / 80 km/h )
P 3621 (118.5 (DR) / 80 km/h )
-------------------------- 27
25 e o (R 96 e 32.5 .................................................................................... 31
T 9626 ( 173 (DR) / 90 km/h) 30 e ?-).2. .......................................... 34
T 9626 ( 173 (DR) /90 km/h ) I .............................
7 e ————————— o 40
T 9626 (173 (DR) / 90 km/h ) A
O P ¢
8 , ................................................................. :6 T 9627 ( 173 (DR) /90 km/h')
L2 R URPMAPPTEEEPRTITTLLEEIELL (bbb
.......................................................................... 10 9 T9627 (173 (DR)/ 90 km/h))
------------ 13 T9627(173(DR)/90km/h)
T 9627 (173 (DR) / 90 km/h )
-------------------------- 29
TS TSR 180 k) g
T9412(172 (DR)/80 km/h) 32 - ?.)Z .......................................... 36
T 9412 ( 172 (DR) / 80 km/h ) 3-.8. ...................................................................... 42
T9412( 172 (DR)/80 km/h) ------------------------ 1
9
Ng 53625 ( 52.8 (DR) / 65 km/h 10 HM
(52.8 (DR) ) Ng 53625 (52.8 (DR) / 65 kmih ) 12 12
Ng 53625 ( 52.8 (DR) / 65 km/h )




® A
> = A 2 2
= = ) ) : ;
3)
12
9
Ng 53625 (52.8 (DR) /65 km/h) | 10
Ng 53625 ( 52.8 (DR) / 65 km/h ) 12 1 -
—0
Ng 53625 ( 52.8 (DR) / 65 km/h )
o
53
57
Ng 53625 ( 52.8 (DR) /65 km/h.)
------------------- 30
i L —— R
T 9628 ( 173 (DR) / 90 km/h ) g, 34
T o628 (175 P Jrr—— 3 3 .................................. 37
e
T9628 (173 (DR)/90km/mh) L.
40 ------------------------------------------------------------------------------------------- 43
T 9628 ( 173 (DR) / 90 km/h ) ------------------------------- 1
14 ‘
1 " 59 (g 63624 ( 52.8 (DR) / 50 km/h)
(g 63624 (52.8 (DR) / 50 km/h ) Ug 63624 (52.8 (DR) / 50 km/h )
B0 | meeeeeeeeessaessessessessesssseEssEEILEILEISEIIEILEIIEIIELEEILEIL I [
0|
o) N s o 38 T 9629 (173 (DR) /90 km/h )
................................................... 45 42 41 T 9629 ( 173 (DR) / 90 km/h )
T 9629 (173 (DR) /90 km/h )
T 9629 (173 (DR) / 90 km/h )
®
0
3
" ' 5 (52.8 (DR) / 50 km/h
Ug 63625 ( 52.8 (DR) /50 km/h ) Vo 636251 o |
35
Lzv 93625 (52.8 (DR) /65 km/h) |36
Lzv 93625 (52.8 (DR) / 65 km/h ) 38 38
Lzv 93625 ( 52.8 (DR) / 65 km/h ) 40 “
Lzv 93625 ( 52.8 (DR) / 65 km/h )
16
------------------------- 25
S ) —
T 9630 ( 173 (DR) / 90 km/h ) 2--6. .................................................................................. 29 ;
79630 (173 (DR) 790 KifirH ) g S 52 N 536264 52,8 ORM AN
T 9630 (173 (DR) / 90 km/h ) t .......
35 ----------------------------------------------------------------------------------------- 38
T 9630 ( 173 (DR) / 90 km/h ) ------------------------------ 1
B8 | eerestesesessesseseisEisEeeEesEIIIITIIIIIIIIIIIIII )
2 : ...........................................
T TSRS S LIRS LU oo 0 rees R
................................................... gg" S ’ T 9631 (173 (OR) /90 k)
T 9631 (173 (DR) /90 km/h )
T 9631 (173 (DR) / 90 km/h )
16 p 3622 (118.5 (DR) /100 km/h) | 17
P 3622 (118.5 (DR) / 100 km/h ) 18 18 -
P 3622 (118.5 (DR) / 100 km/h } :LL
25 24 : -
28 Ng 53626 ( 52.8 (DR) / 50 km/h ) P3
— 622 (118.5 (DR) /1
Ng 53626 ( 52.8 (DR) / 50 km/h ) Ng 53626 ( 52.8 (DR) /50 km/h) o
41
Ng 53627 (52.8 (DR) /65 km/h) |42
Ng 53627 (52.8 (DR) / 65 km/h ) 44 44 :
Ng 53627 ( 52.8 (DR) / 65 km/h )
54 52 52 50 E 422 (118.5 (DR) / 80 km/h)
18 E422-4-1185(DR) /80 km/h ) E 422 (118.5 (DR) / 80 km/h) S nes o
—
25
- 30
NyB3627 (528 (K) 765 ki )




MvO
mam
113
113
MINZ
ong

25 =

Ng 53627 (' 52:8 (DR) 765 ki §

T8 eeraeeseeseeeseenEeeIEEII
22 R o T 9413 (172 (DR) /80 km/h )
2] TP s . o413 (172 (DR 80 k)
................... o
................................ 27 T9413 (172 (DRY 180 kmitr)
T 9413 (172 (DR)/ 80 km/h)
1
llllllllllllllllllllllllllllllllll 4
2 S S
............ 7
T 9632 (173 (DR) / 90 km/h ) 2 T 9632 (173 (DR) / 90 kmih ) 4 "5 ................................................................ ®
T 9632 (173 (DR) / 90 km/h )
14
R S N 18
T9414 (172 (DR) /80 km/h ) 15 2 b N 21
T 9414 (172 (DR)/ 80 km/h ) g e :
TO414 (172(DR) /80 kmih) ~ @reeseessseessseseessesssannes

------------ 1
T 9414 (172 (DR)/ 80 km/h )




